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gferer - 11

1.

Which of the following is the meaning of
‘Agrahara’ village ?

(A) Donated to Brahmins and

exclusively inhabited by them.

(B) Donated to Brahmins but inhabited
by Brahmins and Non-Brahmins.

(C) Donated to a temple and managed
by Brahmins.

(D) Donated to Non-Brahmins and
exclusively inhabited by them.

The first epigraphic reference of
committing sati (of A.D. 510) has been
found from :

(A) Eran (MP)

(B) Prayaga (UP)

(C) Bhitani (UP)

(D) Vidisha (MP)

‘Fer’ um w FEAfafaa d 9 s &2

(A) s = gF | e qen qolamn 376
g1 framata

(B) WMl = TF H e, W s sik
st gR1 famaea

(C) =& =1 3@ # fa=n wen sl & 2
gafya

(D) TR-mmamii #1 T 4 fear qun qoleen
T gA Frama

Tt ¥ | Hefya (A.D. 510) 9o fUreiera
el A WA I ?

(A) T (4.4.)
(B) WATT (3W.)
(C) HiF (39.)

(D) fafewm (mw.)
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Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) : The Swadeshi Movement
did not succeed in influencing the
peasantry.

Reason (R) : During the swadeshi phase
peasantry was not organised around their
demands.

In the context of the above two statements
which one of the following is correct ?

(A) Both (A) and (R) are correct and
(R) explains (A).

(B) Both (A) and (R) are correct but (R)
does not explain (A).

(C) (A) is correct but (R) is incorrect.

(D) (A) is incorrect but (R) is correct.

The Paleolithic men in India are also
known as :

(A) Quartzite men
(B) Stone Age men
(C) Primitive men

(D) Modern men

“History is an ending dialogue between
the present and past” who wrote it ?

(A) Collingwood
(B) D. Ricardo
(C) Spengler

(D) EH. Carr

i € e el e ¥ w i wee (A) i
T8 ! HIOT (R) &1 7417 |

T (A) : TR A F9% 7 H1 gl
F H 9Fd T 1@ |

FROT (R) : Feeft 7iden & R Fus o
ST T 1 SR Gfad e o)

ITF B gaaed F e § Frerferfag § 9

HIE 9 HE E?

(A) (A) 3R (R) 31 Te § (R), (A) F71 T
HEE |

(B) (A) 3 (R) 3 w1 ¥ frg (R), (A)
1 TE = TE §

(C) (A) %él &, WG (R) 7o &
(D) (A) 7T &, W (R) T& 1

TIER A Ha H R o
ot el S |

(A) FERESEE A
(B) e g Hee
(C) anfemra

(D) =Yfw wHE

" gferE, =HE TE A % W sifen amtem
¥ 3@ e fer 2

(A) =ifemEs

(B) . faret

(C) ¥R

(D) % THE FR
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6. Match the following (the regional 6. Yfoid FifSu (FFE ¥ T & 396 THF)
kingdoms in Deccan and their rulers) :
List-1 (Kingdoms)  List-2 (Rulers) Heit-1 (79 Feil-2 (VI )
(a) Kadamba (i) Sinhana (a) = (i) fasmr
(k) Ganga (i) Someshwara I (b) T (i) HEYEL gaq
() Yadava (iii) Mayursharman (c) d=d (i) HRIEHA
(d) Kalyani (iv) Madhavavarman (d) =Heamt TGF (iv) FHEEHA
Chalukya
Select the correct answer : W I g
(@ (b) () (d) (@ (b) (o) (d)
(A) () (i) ([v) () (A) (@) (i) (v) (i)
(B) G) @) (@) @) (®) @ @ @) (@Qv)
(©) () (v) @) (i) (© @) (@v) @ @)
(D) Gv) () @) (i) D) Gv) () () (i)
7. Which one of the following was not a 7. fr=fafas § € # vovfia =1 fogia Tl
principle of the Panchsheel ? o ?
(A) World peace and International (A) Towa wifa aun sriedia wedm
co-operation
(B) Respect for each others territory and (B) Tt 31 5T 79 29 =1 &g arEE
sovereignty IR AYEET F1 HEHE FE]
(C) Non-aggression (C) TE W W AHAW 7 FEA
(D) Equality and mutual benefit (D) 9T U 9OEE Y
SPACE FOR ROUGH WORK / T% %14 & ford wre
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8. The following Portuguese travellers 8. ffufag et At 3 fasE wwe
provide useful information about the F AR ¥ HEAYU THEH Iqere w0
Vijayanagar Empire :

(a) Nicolo Conti (a) T w1
(b) Domigos Paes (b) SfenAw
(c) Durante Barbosa (c) TUd amEtEn
(d) F. Nuniz (d) Tk Fr=
Select the correct answer : |E I g
(A) (@), (b), (c) (A) (@), (), (¢
(B)  (®), (). (d) (B) (b), (c), (d)
(C)  (a), (b), (d) (€) (@) (b). (d)
(D) (@), () (d) (D) (@), (0), (d)

9.  In which language of the fc.allowing was 9. HW wife frifea e s # foran
Sangam Literature written ? q1?

(A) Kannada (A) ==
(B) Telugu (B) d
(C) Tamil (C) dfe
(D) Malayalam (D) wHeFTeH

10. Which of the following pair (scholar and ~ 10. Frfefan § & #et i (w7 wra
his work in ancient India) is not correctly fa8F wd =1 ) HHfera 78 & 2
matched ?

(A) Vishakhdatta - Mudrarakshasha (A) fawrass - HERIEH
(B) Bhavabhuti - Malti-Madhava (B) wayfa - Wiy
(C) Kalhana - Rajatarangini (C) ey REGLL|
(D) Kalidasa - Devi-Chandraguptam (D) wifee™ - Sei-dETen
SPACE FOR ROUGH WORK / T% & & fod W
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11.

12,

13.

“Historian is not a judge but a servant of  11.

the servants of God” who said it ?
(A) Kitson clark

(B) Butler field

(C) Croce

(D) Elton

“Term historical synthesis” indicates to : 12,

(A) Joining
(B) Grouping
(C) Arranging

(D) All of the above

Bhumija Style is characteristic feature of  13.

temple architecture of which one of the
following ?

(A) Gupta temple
(B) Kalachuri temple
(C) Paramara temple

(D) Chandela temple

SRR 9 @ €, T o1 % HaFi H
Yaw &' - P w ¥ 2

(A) Torega somh
(B) WIER Hies
(C)

(D) e

" Wfrerfee dyeram ag " wn fadfa s &2
(A) wfiE

(B) WA

(C) ==

(D) 3w Ot

frreifena farm wifge o & wermoes & yfs
Yreit ST famer gid & 7

(A) T HiET

(B) whergR Hfex

(C) 4YER HfgT

(D) e Hfex
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14. Find out the correct chronological 14. FreifeifEa @ Fge (dg) w@ # wd
sequencing of the following Buddhist sites HIEHH SRl |
as they came into prominence.
Select the correct answer from the codes &t T e | wd s g
given below :
(A) Nalanda - Nagarjunkonda - (A) el - AT HIST - EEdt - Gt
Amaravati - Sanchi
(B) Sanchi -  Amaravati - (B) Wfelt - STl - AT Fie - e
Nagarjunkonda - Nalanda
(C) Sanchi - Nagarjunkonda - (C) W=t - AT FieT - st - Areiar
Amaravati - Nalanda _
(D) Nagarjunkonda - Sanchi - (D) FIS[A il - | - sEEd - e
Amaravati - Nalanda
15. Who of the following was the earliest 15. YE-HeEeeE YA o yiE ot ¥ wdyey
exponent of Bhakti Movement in early wor frafafaa § & = a2
medieval India ?
(A) Ramananda (A) T
(B) Nimbarka (B) frwark
(C) Madhavacharya (C) HeErETd
(D) Ramanuj (D) TS
16.  Which one of the following categories of ~ 16. Ydadl reft oral % araR, fr=fafay fag
people did not belong to the Nichakula At F el B A FA a9 e
or Hinajathi according to the early Pali e =1 =& e e o2
texts ?
(A) Chandela (A) =en
(B) Nishad (B) frm=
(C) Mritapa (C) Ham
(D) Pukkusa (D) YgaFdn
SPACE FOR ROUGH WORK / TF &Td & fod wig
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17.

18.

19.

Which of the following is true about  17.

‘Jangama’ ?

(A) A deity of Shakta religion

(B) A guru (teacher) of Lingayats
(C) A branch of Buddhism

(D) A sect of Vaishnavism

Which one of the following Vedic Gotras 18.

was not the source of the Satavahana
Metronymics ?

(A) Vashistha
(B) Atreya
(C) Mehara

(D) Gautama

The duty of a true research in : 19.

(A) To draw his personal conclusion.

(B) To form a balanced view between
Contrasting Ideas.

(C) Neither of the above two.

(D) Both (A) and (B).

‘sima’ % Hey | frefatead § 9 s =
g7

(A) MR H F TH aaqQ
(B) Teimmaal =1 s % (foner)
(C) dirg ud %I T o

(D) <o v & TH THEH

Frafafad feg afees 1im, g agafas
afa =1 &a T& 491?

(A) afirs

(B) 3%

(C) Wem

(D) i

R 3y %1 HE 2§ ?
(A) Fafeas frepd frem 4

(B) fawlanede famml % wea wafem famm
THH |

(C) 3w aFi A =g off 7 |

(D) (A) @en (B) B |

SPACE FOR ROUGH WORK / 7% &9 & & e
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20.  Which one of the following suggests the  20. foan W siwfafs it o gefia i
proper chronological order of the ST/ WSt 1 HE FIATHH B T2
commission/despatch mentioned below
relating to the colonial policy on
Education ?

(a) Raleigh Commission (a) el smEm

(b) Sadler Commission (b) Heew sWEm

(c) Wood’s Despatch (c) 9z¥ feorm

(d) Hunter Commission (d) BTUR FEm

Select the correct answer from the codes =1 2 & wl s = == Fifvw .
given below :

(A) ®), @, @) () (&) ®). @) (@) ()

(B) (). (d). (a). (b) (B) (9. (d), (a), (b)

© (@), ), ), (©) © (@), @), (b ©

(D) (), (). @), () (D) (@), (b), (@), (@)

21.  Select the correct chronological order of 21, feifefias Teensii % wd FTEARE g
establishment of following institutions :

(@) The Indian currency (fowler) (a) T 3feam i (FEER) FHIYH
commission

(b) The Royal Commission (b) T TS FHEA (=) & gfgam
(Chamberlain) on Indian finance FETH

(c) The Imperial Bank of India () = zrfifas &= siw e

(d) The Reserve Bank of India (d) 3 fod % sifw fea

Code : - T

(A) ®) @), © () (A) ®), @ © (d)

(B) (a), (b), (0), (d) (B) (), ®), ©),

© () (b) @), (©) © (@) (), @, (©

(D) (b, (a), (d), () D) (). (a), @), ©)

SPACE FOR ROUGH WORK / 1% & & fodt e
Set - A 9210,'JTFU-HISXELG-I.I




22. Under the Cholas “Eripatti” meant : 22.

Select the correct answer :

(A) | Tank land

(B) Pasture land

(C) Waste land

(D) Cultivable land

23. Which of the following statements is not 23,

correct ?

(A) Monetary system of the Mughals
was largely based on Silver
Rupaiva.

(B) The Mughal rulers from Babar to
Shahjahan continued to harbour
territorial ambitions in Central Asia.

(C) There was no middle class in
Mughal India.

(D) The period 1605-1658 witnessed
significant changes in the Mansab
and Jagir systems.

e s & e | ¢ uftegt ' s e aread
aq1?

@ 3w g
(A) T® yfa
(B) ARFTE
(C) = yf

(D) Fia AT yfm

FrefafEa ¥ 9 S F99 96 T8 8 7

(A) wTE i i et gerE: =9k F
T 9T A1 o |

(B) e H BVl 9% Hl e et
F1 72 U § 370 Iy e e
F HETHI T |

(C) Hershel | HeH ol & ol

(D) 1605-1658 & 1@ H I999 § ST
e § Heaqul i R

SPACE FOR ROUGH WORK / & &1d & foa s
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24. Match the Bhakti Saints (List-I) with the
theories they propounded (List-II) and
select the correct answer using the code
given below :

List-I List-II

(a) Shankaracharya (i) Suddhadwita

(b) Ramanujacharya (ii) Dwittaadwita

(c) Vallabacharya

(d) Nimbakacharya

Code :

@ ® © (@
(A) @ Gv) @ (i)
B) Gi) @) @v) G
© @ O @) @@

(D) () (v) (@) (i)

(i) Adwitavada
(iv) Vishishtadwita

25. The following were the capitals of the
Bahamani Kingdom :

(@) Daulatabad

(b) Gulbarga

() Bijapur

(d) Bidar

Select the correct answer :
(A) (a) and (b)

(B) (b) and (c)

(© (a)and ()

(D) (b) and (d)

24. o gdl (F-1) F % TR weatEE
fagr=l (gei-11) & gafaa =¥ 3ir =

few T e | wét I w1 =9w Fifew .
i1 eI
(a) Wi () EEA
(b) TS (i) fewerga
(c) FEAvET (iii) BTETE
(d) Traepramd (iv) fafererga
F:

@ () (0 (@
(A) @ (v O ()
(B) @) @ (@v) (i)
© @ @O @G (@)
(D) @) @v) @) (i)

(a) SrewrER
(b) TerE
(c) @Sy
(d) d=
e I g
(A) (a) T (b)
B) {) ()
© (@)W ()
D) (b ()

SPACE FOR ROUGH WORK / 7% &14 % fordr s
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26. Given below are two statements, one is

27.

labelled on Assertion (A) and the other
is labelled on Reason (R).

Assertion (A) : The English introduced
Western education in India.

Reason (R) :
Indians aware of scientific and national

They wanted to make

advancement.

Read the above statements and select the

correct answer from the codes given
below.

(A) (A) is false but (R) is true.
(B) Both (A) and (R) are false.

(C) (A)istrueand (R) is the most correct
explanation of (A).

(D) Both (A) and (R) are true but (R) is
not the correct explanation of (A).

Which of the following is the correct
meaning of ‘Igta’ ?

(A) Subedari
(B) Military rank
(C) Revenue assignment

(D) Ministry

26.

27.

= 2 g fgd ™ 1 = TR (A)
i1 Y 1 AT (R) @1 TR |

YT (A) : S T 9y H = fen
Hreanfed feran €1

FHUT (R) : & WA I A0 3 T
afa & @ § SAa SO 9ed o |

Ti el 1w o A fre T EE &
T TN & I HI9C

(A) (A) T 2, W (R) T8 ¥
(B) (A) 3R (R) i 7o £

(C) (A) W& ¥ iR (R), (A) F1 Haffies
& W B

(D) (A) &R (R) S et € W (R), (A)
%] & TEH T8 2

frefafas § & S g’ w1 wE ad 27

(A) gEE
(B) Wf® e
(C) TTa E&aiayl

(D) i

SPACE FOR ROUGH WORK / 1% &rd & fo& s7e
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28.  Arrange the various famine commissions

appointed  under the
administration in

crown
India in the
chronological sequence on the basis of the
following codes :

(A) Strachey Commission, Campbell
Commission, Lyall Commission,
Macdonnel Commission,

(B) Campbell Commission, Strachey
Commission, Lyall Commission,
Macdonnel Commission.

(C) Lyall Commission, Strachey
Commission, Macdonnel
Commission, Campbell
Commission.

(D) Macdonnel Commission, Lyall
Commission, Campbell
Commission, Strachey Commission.

28.

WRA F HEA W H g fafis st
A F1 frfafed 52 ¥ amm w
FITFATIRN ATh0 Fyifia Fifem .

(A) Bt amEm, S s, wtge
AEN, FFEH 3

(B) Fwda s, R s, wiaw
AT, BFEe s

(C) =g amEn, 2= s, dwea
AR, FEA

(D) HEFTer S, Afae s, S
3, Wt 3

29.  Who of the following Mughal emperor 29, Frfafiaa # & frg g wore 39 it-fomen
was interested in female education and H ¥ oft e 30 a9t e e |
established a school for girls at his & ford U wrowren =t <o 57 o 2
capital ?

(A) Akbar (A) TR
(B) Jahangir (B) iR
(C) Shahjahan (C) el
(D) Aurangazeb (D) sfrsia
SPACE FOR ROUGH WORK / T% &4 % ferq e
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30.

31.

Match List-I and List-II : 30.

List-I List-11

(Year)

(Presidents of the Indian

National Congress)

(a) Rahimatullah (i)
Sayani

(b) Badr-ud-din (i)
Tyabji

(c) Maulana Abul
Kalam Azad

(d) Nawab Syed
Mohammad

Code :

(@ (b) (o) (d)
(A) G) (@) @ @)
(B) Gv) @@ @
© G) @
(D) @) (@

1887

1896

(i) 1913

(iv) 1923

Which of the following buildings are  31.

found at Fatehpur Sikri ?

(a) Buland Darwaza

(b) Tomb of Salim Chisti

(¢) Panch-Mahal

(d) Humayun’s Tomb

Choose the correct answer from the code
given below.

(A) (@) (b). ()
(B) () (), (d)
(©)  (b) (), (d)
(D) All of them

ell-1 &1 geit-11 9 Faferd i -

qeit-1 qEi-11
(9 T HOE (99)
o 37eTe )
(a) TEHgeen WAl (i) 1887
(b) @SEEM dFeS (i) 1896
(c) HIEHT A (iii) 1913
HAH S
(d) & H9E HEewE (iv) 1923
e
(@ (b) () (d
(A) @) (@) @ ()
(B) (v) (@) @ ()
© G) @) (@v) ()
(D) @(v) () @) G
fr=fafaa § § $F @ 79 e el
H ur¢ wAreit € 2
(a) FeTS AT
(b) Feim fawdt =1 7a
(c) vi=meEd
(d) T H TR
frefafea e & wé 3w g .
(A) (@) (), (o)
(B) (a) (o), (d)
(©)  (®) (9. @)
(D) SwlEa wedt

SPACE FOR ROUGH WORK / 7% %4 & &9 wme
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32.  The text of Manasara deals with which 32, HTaR WY freifera fora fawa &t ==t =
one of the following ? €7
(A) Law (A) fafy
(B) Medicine (B) airmeff
(C) Painting (C) fesen
(D) Architecture (D) =M
33. Assertion (A) : There was an absence 33. ®UA(A): [E-TTEE H T wq Tfem
of intermediary Varnas in Bengal and YR H Werpa] wyof ST e T |
South India during the pre-medieval
times.
Reason (R):  The progress of AT (R) : 39 9ok & swmmEr ¥ fawm
Brahmanism contributed to this process. 1 IS o1 |
(A) Both (A) and (R) are true and (R) is (A) (A) TS (R) 2l w1 € 7901 (R), (A) 1
the correct explanation of (A). e TR #
(B)  Both (A) and (R) are true, but (R) is (B) (A) ™ (R) 3l 7= ¥, 75 (R), (A)
not the correct explanation of (A). T TE TR T ¥
(©) (A) is true, but (R) is false. (C) (A)¥™ ?, 7 (R) 5797 ¥
(D) (A) is false, but (R) is true. (D) (A) 5 2, W (R) ¥4 |
SPACE FOR ROUGH WORK / T% & % forg =g
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34.

35.

The Humanist historiography originated
from :

(A) Germany

(B) Italy
(C) England

(D) Russia

Arrange the different stages of the
development of education in British India
in chronological sequence on the basis of
following codes :

(A) Despatch of Sir Charles Wood,
Hunter Commission, India
Universities Act of 1904, Hartog
Committee.

(B) Hunter Commission, Hartog
Committee, Despatch of Sir Charles
Wood, Indian Universities Act of
1904.

(C) Hartog Committee, Indian
Universities Act of 1904, Hunter
Commission, Despatch of Sir
Charles Wood.

(D) Indian Universities Act of 1904,
Hunter Commission, Despatch of
Sir Charles Wood,
Committee.

Hartog

34.

35.

Tgarars gfaerm e faemtaa g

(A) A H
(B) e |
(C) Twed

(D) &9 ¥

freferfiad e % snur 5 fafew e T7a
# foen & fowm & fafus =woi =1

Ferhaar dwEA fFuifa Fife

(A) T AEH g8 F WA, T AN,
urery favafaames sfufm 1904,
e |t |

(B) =X 3Em, gl wiafa, W Ay 98
&1 A9, YAy favafaam
srfufraa 1904 1

(C) =i wfufa, yrdta favafaaca
sAfufam 1904, T=2 3@, T Ad
T FH AFIH |

(D) vt favafasmerm afuft@m 1904,
TR M, W 9l gE F A,
grerm afafa |
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36. Given below are two sentences, one is 36, qﬁﬁwﬁqm%‘mﬁqmﬁmw
labelled as Assertion (A) and other is 3 TH F HWOT (R) T8 T E
labelled as Reason (R).
Assertion (A) : In the Swadeshi Movement HUT (A) : T (1905-08) ¥ w=2vht svicem
and the Boycott Movement in Bengal R sfewpn e # famnedf it wfeensi
(1905-08) not only students and women % Sl 9% oft whFa w9 F 9 fr 4
but peasantry also actively participated.
Reason(R) : The movement was a BT (R) : I% AT st fqurm  faeg
powerful expression of resentment RIS T U WTet arfrsaf o
against the partition of Bengal.
Read the above statements and select the IRIH FYT T Y2H = feu mu kT qudt
correct answer from the code given ST F =997 i ;
below :
(A) Both (A) and (R) are true and (R) is (A) (A) 7= (R) =T @@ # 3 (R), (A)
the correct explanation of (A). &1 Het = §
(B) Both (A) and (R) are true but (R) (B) (A) @ (R) ST W&l € wig (R), (A)
is not the correct explanation of (A). =1 Hel =T TE # )
(C) (A) is true but (R) is false. (€) (A) & 2, 9ig (R) 7o ¥
(D) (A) is false but (R) is true. (D) (A) Temd &, Y (R) w8t #)
37. Who started the Depressed Classes 37, =z o e =Y T foare wmesy i 2
Mission ?
(A) Dr. B.R. Ambedkar (A) Tl SlLaR e
(B) V.R. Shinde (B) diam fa=
(C) D.K. Karve (C) Eiw w4
(D) Pt Jawaharlal Nehru (D) dfsa wamtEe Few
SPACE FOR ROUGH WORK / T% & % fordt s
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38.

39.

40.

“Under the rule of Nayakas in South India  38.

one Shivappa Nayak had classified the
soil of his state into following categories :

(@) Uttamam

(b) Madhyamam

(¢) Nimnam

(d) Adhamadhamam
Select the correct answer :
(A) (), (), (©)

(B) (b), (0) (d)

€ (@) () (d)

(D) (@) (). (d)

Which one of the following texts is the 39.

earliest to deal exclusively with legal
matters ?

(A) Manusmriti

(B) Yajnavalkya Smriti
(C) Lalitavistara

(D) Naradasmriti

The first rock paintings in India were  40.

discovered at Sohagighat [Uttar Pradesh]
in 1867-68 by :

(A) V.S. Wakankar
(B) M.C. Burkitt

(C) A.LCL. Carlleyle
(D) L.A. Cammiade

STeq0T WId ¥ A o YTEA Siaria Ue e
TEE A A T w1y & aitE
fr=fafaa gt o fa

(a) SWHH{

(d) e
‘Hﬂ' T qﬁrq H

(A) (@), (b) ()
(B) (b), (). (d)
©) (@ (@) d)
D) (@) (© (d)

frefafan i =1 quas o € S faema
Tt fa & Tt 32

(A) wIsfa
(B) AT Hfer
(©) wAfeafasan
(D) reEgfd

qrd o ugen dEfET 1867-68 § HEfER
[55 ww] § forer @it fobn 2

(A) UH. aAEhHT
(B) uwAH. afdhe

(©) THLEA. Ferd
(D) WA, Hfiuug

SPACE FOR ROUGH WORK / 7% #1d & fad s
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41. Which of the following was not an 41 Freferfem & 9 711 1857 % fagie =7 wfomy
outcome of the revolt of 1857 ? & o1 ?
(A)  Abolition of the company’s rule (A) 9 e 1 FEIfe
(B) End of an era of British annexation (B) ISl % 159 e wen sy e
and expansion ED g1 F Hq
(C) Declaration of Sikh, Gurkha and (C) foF@, T a4 vem dfmi 71 v
Pathan soldiers as non-martial GECR Lo
(D) Acceptance of British paramountcy (D) = T4l gry sfisft wwvar wen
by the Indian states £t
42. After Tipu Sultan’s death in 1799, his  42. 17993 Y G i 90 F A% 39F wEe
dominions were distributed among F1 forTd afe faar war a1 2
whom ?
(a) The English (a) 30
(b) The Nizam (b) from
(c) The Marathas () HUa
(d)  Achild of Hindu dynasty of Mysore (d) " g 59 F v awo=
Code : E
(A) (@), (), (c), (@) (A) (@), (b), (c), (d)
(B) (). (b), (c) (B) (@), (®), (9
© @ (@ © © @
(D) (d) only (D) fa (d)
43. The Greek sources mention 43. ¥iF HE o T | 1 SeerE R war
Chandragupta Maurya as : o &2
(A) Sandrocottus (A) Hgeprew
(B) Androcottus (B) TU~gI%IeH
(C) Both (A) and (B) (©) (A) 7o (B) 3
(D) Chandrokottus (D) ==rFEE
SPACE FOR ROUGH WORK / T% &1 % fordt sig
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44.

45.

The following dynasties were engaged in ~ 44.

the tripatriate struggle for establishing

over Kannauj :

(a) Gurjara - Pratiharas
(b) Palas

() Western Chalukyas

(d) Rashtrakutas

Select the correct answer :
(A) (a). (b). (0

(B) (b). (c), (d)

(C) (a), (b), (d)

(D) (@) (). (@

Assertion (A) : Alauddin Khilji adopted  45.

the policy of non-annexation of Deccan
and South Indian Kingdoms.

Reason (R) : It was not possible for him
to keep control over these far-flung
kingdoms.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

Foa W AfuER Wi & fau g Hosfw
wod § Frefafas aoew fag 9 .

(a) TR AfER
() T

(c) uferil =T
(d) TEEE
wE I g
(A) (). ®), (©
(B) (). (9 (d)
© () ®) (@
D) @ () @

HYA (A) : AN faersi 9 e S
=i v T F i -dfafams =
Hifa 19 E |

WOT (R) : 35 fog 39 gagadl T |

frd=au wa= sEYE 91|

(A) (A) TS (R) 3 9 £ F1(R), (A) F
Hel T B

(B) (A) U (R) 3l ¥4 T, T (R), (A)
1 T TR T R

(Q) (Aim % T (R) 39 €1
(D) (A) 318 8, W (R) 9 T

SPACE FOR ROUGH WORK / 7% T4 & foa s
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46.  Which one of the following was a cause 46, 185 IareEl 8 et ¥ gt w22 ¥ e
for the decline of the textile industry in ¥ ford Freferfam & & @ v #wo a2
Bengal during the 18t Century ?

(A) Decline in the quality of production (A) 3EREA FI qEE § gz

(B) Non-availability of raw material (B) = AT S IqeTeal TE

(C) High tariff rates on export to Britain (€ T3 4 i %t 9 aweh awgel w
oA &

(D) Non-availability of Craftsmen (D) IR F U= TE

47.  The main historical sources regarding the ~ 47. =1eT 9T & aienta 7 e & Waifird =
information about village government 1 99 Tfoaiae & ©
under the Cholas is in the :

(A) Halmidi Inscription (A) et e
(B) Jatwai Inscription (B) =i foremera
(C) Uttermerur Inscription (€) Zuew fymmem
(D) Chardravallo Inscription (D) Hrgfaeer foemmE

48. The Portuguese dominion in India was 48, HRE H Yemifeai s snfiaes fre v anenf

based upon : 91 :

(a) Command of the sea (a) 992 W Hfyswr

(b) Possession of forts and strategic (b) T F Ty TR HEE T qen fre
points along the coast T Afiwr

(¢)  Territorial control of South India (c) =fEmor wRE W 9-ynig \'ﬂﬁlﬂt

(d) Monopoly over port to port trade (d) TITER @ | &E0mE ¥ 520 9%
on Malabar coast SR 1 T

Find out the Right answer. & ST T HET whifs |

(A) (c) and (d) only (A) F (o) =1 (d)

(B) (a) and (b) only (B) 9 (a) T (b)

(© (@), @), (9 (d) ©) @ ®), (o) (@)

(D) (a), (b) and (c) only (D) F (a), (b) 71 (c)

SPACE FOR ROUGH WORK / T% &4 % fod wwg
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49,

50.

51.

What Constituted the crux of the Drain
Theory highlighted by Dadabhai
Naoroji ?

(A) Abuse of trade practices by the
merchants of the ruling race

(B) Ill-gotten money taken from the
princely rulers and remitted to
England

(C) Unrequited exports from India

(D) Glutting of India markets with
British manufactured goods

Who of the following patronaged the
Kishangarh School of painting during
later medieval period ?

(A) Mabharaja Jagat Singh
(B) Maharaja Sawant Singh
(C) Maharana Uday Singh

(D) Raja Jaswant Singh

Which one of the following statements is
not true about Samudragupta ?

(A) He built the most extensive empire
after Ashoka.

(B) A poetical work called the Krishna
Charitam is attributed to him.

(C) He is also known as Kaviraj.

(D) He sent an embassy to China.

49,

50.

51.

2RI AR g yEiE A Frerme fagia
1 & aw fHed fHied o172

(A) s Sifa & SARE R SR
nfafafei =1 geaam

(B) feamaedt el | svfea @l 9 oA
Wi AT SR 3 Feis el

(C) ¥RE ¥ THatw i

(D) fofew Sefen avgeli 1 WK ==
H 9 &

IR TeHE A ot & fHvme @
(Freft) =1 Hewr T fFrefatea § 4 E
2

(A) TR ST e
(B) TeRwN HEq o
(C) wermn 357 fHe
(D) =1 Sed f6E

g ¥ an § Frafatas § 4 S w5
e §?

(A) oT¥i F 918 TR faune amed Tgl
e

(B) THIATHS TF ‘FOUERAH = AU
foman T &)

(C) 3= Hfaus ot el < ¥ |
(D) 3= 79 TSIgA = 1 9 41|
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52.  Archaeological material can be divided 52, qufess wged 1 fawifsr frar s 3
into :

(A) Two parts (A) S urH

(B) Three parts (B) dtF 9 &
(C) Four parts (C) =R yri o
(D) Five parts (D) ey &

53. Which of the following is not correctabout 53, forarst TE Pl % ot g8 giet Gy
the Treaty of Purandar (1665) signed (1665) % Helyy ¥ freiferfas & @ S wd
between Shivaji and the Mughals ? T E?

(A) Shivaji surrendred his 35 forts to the (A) Torarsit 5 3193 35 foret et =) wmfdg
Mughals. fep
(B) Mughals granted a mansab of 5000 (B) Tl 3 foramsit 3 43 &Y 5000 % T
to Shivaji's son. TEH i |
(C) Shivaji was granted the right of (C)  Teramsit =1 <o vd geRvwE F aifisr
Chauth and Sardeshmukhi. e fahu o
(D) Mughals recognized Shivaji's right (D) Wi = ferarst & sy v % FD
to certain parts of Bijapur il W AR wiea foFm)
Kingdom.
54. Name the significantscholar of positivists. 54, FeI&EwR TG YA T §
(A) Auguste Comte (A) &R T
(B) Ranke (B) ==
(C) Neibhur (©) =
(D) All the above (D) S |t
SPACE FOR ROUGH WORK / T% %14 % ford o
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55. What is the correct chronological  55. fy=fafas =1 wd@ THA 182
sequence of the following ?

(a)  The founding of the Ghadar party (a) =T Ot =t wTgE

(b) The Kakori Conspiracy Incident (b) HERRT TZAF I T
(c)  The execution of Khudiram Bose (c) TER™ = 1 et l
(d) Chauri-Chaura incident (d) =H-=mF Ty
Code : Fe :

(A) (@) (), (b). (d) (A) (@), (©. (b), (d)

(B) (b), (a), (d). (c) (B)  (®). (@), (d), (¢)

(©) () () (a), (b) ©)  (©. (@), (a). (b)

(D) (9. (@), @), (b) (D) (0). (@) (d). (b)

56. Match the following (the Deccan 56, WAfed Hifaw (Hemeia HIET i Ta i

Sultanates of medieval India and their exd U 395 yafera sirder) .

known titles) :

List-1 (Sultanates)  List-2 (Titles) Feit-1 (Howd ) Heil-2 ( i )
(@) Ahmadnagar (i) Nizamshahi (a) TR @) FemnE
(b) Bijapur (i) Baridshahi (b) @ (i) =g
(c) Golkonda (it) Adilshahi (c) TirerRiE (iti)  sATCeTITET
(d) Bidar (iv) Qutubshahi (d) @fex (iv) Fgaemer

Select the correct answer : Fﬁ"ﬁr{ﬁﬁﬁ

@ () (@ (9 @@ (b) (o) (d)

(A) @) @) @Gv) () (A) () @) (v) (i)

(B) () (iv) () (i) B) @ (@) @ (i)

© @) @ @ (iv) © () @ @ @)

(D) Gv) (@) (i) (@) D) (v) @) (i) ()

SPACE FOR ROUGH WORK / T% &1 & for g
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57.

58.

Arrange the events of medieval Indian
history in chronological sequence on the
basis of following codes :

(A) Annexation of Asirgarh, Shershah’s
death, Satnami Revolt, Coronation
of Shivaji.

(B) Satnami Revolt, Annexation of
Asirgarh, Coronation of Shivaji,
Shershah’s death.

(C) Shershah’s death, Annexation of
Asirgarh, Satnami Revolt,
Coronation of Shivaji.

(D) Coronation of Shivaji, Satnami
Revolt, Shershah’s death,
Annexation of Asirgarh.

Given below are two statements one

labelled as Assertion (A) and the other

labelled as Reason (R).

Assertion (A) : During Quit India

Movement Gandhiji gave the slogan of

‘Do or Die'.

Reason (R) :  Gandhiji did not have

faith in non-violent means.

In the context of the above two

statements which one of the following is

correct ?

(A) Both (A) and (R) are correct and (R)
explains (A).

(B)  Both (A) and (R) are correct but (R)
does not explain (A).

(C) (A) is correct but (R) is incorrect.

(D) (A) is incorrect but (R) is correct.

57.

58.

AEAHTAN 9T 3faerd & 39 "ol @

frafafes $2 % smam W FemaEr

HhH fruifta wifsw .

(A) 3T 1 faer, Yieme # ge,
waH fagre, et =1 vt

(B) wamt fagis, s = faem, femarsit
1 e, IR i gy

(C) e #1 g, st w1 fae,
HaH fagte, forarsh =1 tefids

(D) foErit %1 Tefuds, Taamt faere,
IRIE Fi g, STERTE w1 fery

A & T gl Ty # TF F HAT (A)
3 T F1 ST (R) Tt T ¥

HYUA (A) : YRA B Adew § st 3
"0 A T & AR )

T (R) : MiHrS F sfEwrers Tud §
Toreems =& o1
Syl A Aol % wed H frefetas § @
F W 2

(A) (A) 3R (R) 3T w8 € @it (R), (A)
T Uel e £

(B) (A) 3R (R) 3 =@t &, g (R), (A)
! Y&l e T8l £

(©) (A) Féi &, 7g (R) 7o #)
(D) (A) e €, WG (R) §E 1

SPACE FOR ROUGH WORK / T% =T % fed s
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59,

60.

Place these Education Committees in
correct chronological order :

(@) Hunter Commission
(b) Sadler Commission
(c) Raleigh Commission
(d) Wood’s Despatch

Code :

(A) () (@), (o). (b)
(B)  (a), (b), (), (@)
() (®), (a), (d), (c)
(D) (@), (b), (@), (@)

Arrange the Sufi Saints of Chishtiya
Silsilah in chronological sequence on the
basis of the following codes :

(A) Shaikh Nizamuddin, Shaikh
Nasir-ud-din, Shaikh Salim Chishti,
Fariduddin Ganjshakar

(B) Fariduddin Ganjshakar, Shaikh
Nizamuddin, Shaikh Nasir-ud-din,
Shaikh Salim Chishti

(C) Shaikh Nasir-ud-din, Shaikh
Nizamuddin, Fariduddin
Ganjshakar, Shaikh Salim Chishti

(D) Shaikh Salim Chishti, Shaikh
Nizamuddin, Fariduddin
Ganjshakar, Shaikh Nasir-ud-din

59,

60.

=1 T fiferll <6t ey 1 srafeer
HIT :

(a) B9 FHHYA

(b) FeeR FHwA
() eft wwe

(d) dF=H feqiw

Fe:

(A) (d). (a), (c), (b)
(B) (a), (b), (c), (d)
€ ®) (@), @) (o
(D) (0 (b), (), (d)

Tafven faafae % gt w6 =1 frefafag
FZ F YR R FITHATER FTHA Frifa
iy :

(A) @ fromeE, Y@ THEEEH, |
Teltq favdt, wiged o

(B) WIRREiH TSR, ¥ feied, 9
THEE M, ¥ gefig favdt

(©) 7@ THrET, AE famgEs,
FAIGSaM T, Srg Tel favdt

(D) 3@ weftw favdl, v fremyeet,
RIS T, R el

SPACE FOR ROUGH WORK / T% T % forg e
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61. Assertion (A) : Gandhi withdrew the 61, 3irHe (A) : 517 1922 F wieft 3 <ir-=y
mass movement in 1922 following S F FRU T A I W e #R
Chauri-Chaura incident and he also 1931 # 3= fafewr wrm & e wmghar ot
entered into a pact with British T forn |
Government in 1931.

Reason (R) : Gandhi was a representative T (R) : W =R 9 % w wigtiiy o

of the business class (Bourgeoisie) and S S TEE) % i % Fifed  favarm

believed in the politics of controlled mass w9

mobilization

(A) Both (A) and (R) are true and (R) is (A) (A) 7= (R) < &1 71 (R), (A)
' the correct explanation of (A). I HE = §

(B) Both (A) and (R) are true but (R) is (B) (A) 31 (R) &l =1 ¥ Wi (R), (A)

not the correct explanation of (A). ! TEl = T #

(C) (A) is true but (R) is false. (C) (A) 99 &, W (R) 5793 ¥

(D) (A) is false but (R) is true. (D) (A) 379 ¥, 959 (R) ¥4 3|

62. Which of the following pair (the 62. frfafas & & it gl (feeet weaTa
Department in the Central administration & F=Era v H faam qen sgw w0
of Delhi Sultanate and its work) is not gafer =& &2 :
correctly matched ?

(A) Diwan-i-Insha - Royal (A) dEF-T-gm - TSI TeTaRN
correspondence

(B) Diwan-i-Risalat - Ecclesiastical (B) <MEH-u-fraew™ - wiftfE % wE
and charity

(C) Barid-i-Mumalik - Collection of (C) =HiE-u-qurfas - gamsii w1 gFem
news

(D) Diwan-i-Arz - Financial (D) WEM-u-at i W
matters

SPACE FOR ROUGH WORK / % & & ot wmg
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63.

64.

Which of the following statements are not
correct ?

(A)

(©)

(D)

Mtutmish’s tomb is an indication of
the mixing of the Hindu and Muslim
traditions of architecture.

First true arch was used in the tomb
of Sultan Nasiruddin Mahmud.

The horse shoe arch was used for
the first time in the construction of
Alai Darwaza.

Architectural device known as
double dome was not used in any
building constructed during the
Sultanate period.

Which of the following acts provided for
the separation of Burma from India ?

(A)

(B)

(©)

(D)

Government of India Act of 1919

Government of India Act of 1935

Indian Councils Act of 1909

Indian Councils Act of 1892

63.

64.

Frefafas & @ S wue od T8 £ 2

(A)

(B)

(©)

SEAAHY 1 THadl 39 A w1 "
i1 & o g frmion # g aon wfeem
T FE H WS a1 fhen gen
wA1 fera |

TYH A1 SEET AT F1 WG gead
THIEE HEHE % weHal § foha

=1 F AW H AHG F A0S H:
R 91 YA STeré grars) & famin §
e =)

Bl HETE wE 9 Al ag fedt
Ifer 1 wEm Geeasie § faftfa feed
off s | w7 fomam

Freferfaa sfufad § 9 fFad swfa a0
% YRT | gg fama T a1 2

(A) uiE SR AfufEm, 1919

(B)

(©)

(D)

Yd HER SfufTam, 1935

i ufiyg sifufaam, 1909

YA gftee aafufem, 1892
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69. Which of the following provision was 9. frefefian & & %5 T T4 1909 3 Srt
included in the Indian Councils Act of Tftye stfufam & afmfem o2
1909 ?
(A) Separate electorate for the Muslims (A) FEeH % T goep frafes-dm =t
)
(B) Increase in the functions of (B) faum uftwe & sifiri o 5z
Legislative Councils
(C) Appointment of Indians in the (C) wrEwIRoR aftye & syrerEf ﬁﬁgﬁm
Executive Councils
(D) All above (D) S9Ea |t
70.  Which animal was not common among  70. &2wi & Fi7H1 woft W TE o ?
the Harappans ?
(a) Horse (b) Goat (@) (b) FH
(©) Cow (d) Elephant (c) 7™ (d) et
Select the correct answer : TEl I A1 FFH FIC ;
(A) (a) only (A) Fo (a)
(B) (a) and (b) only (B) % (a) 3 (b)
(©) (b) and (c) only (C) F=a (b) 3R (o)
(D) (@), (b). (c) and (d) (D) (a), (b, (c) 1 (d)
71. Panchajana in Rigveda refers to 71. HTEE W Yee o adem ¥ 2
(A) Five Tribes of Non-Aryans (A) Tr-31 % gfe Sefaat
(B) Five Tribes of Aryans (B) =l & i St
(C) Five Heads of a Village (C) U™ % Ui WqE =t
(D) Heads of Five Villages (D) = T % woE
SPACE FOR ROUGH WORK / T% &rd & fod wig
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72.  The Sanskrit source on the history of 72, HWHR ¥ sfer® #1 wwFa 9w w1 H@
Kashmir ‘Rajatarangini’ was composed ‘R’ Frefefas gr @
by the following :

(a) Kalhana (a) ke
(b) Ksemendra (b) &=
(c) Jonaraja (c) S
(d) Shrivara (d) iter
Select the correct answer : & I gf .
(A)  (a), (b), (¢) (A) (@) (b), (o)
(B)  (®), (o). (d) (B) (b), (c). (d)
(©) (). (b), (d) (©) (). ®), (@
(D) (@) (). (d) (D) (@), (), (@)
73. Match List - I and List - II : 73. el - 1 1 Wt - 113 gafeg Fif
List - I List - II T -1 et - 11
(Peasant Movement) (Region) ( fmmm anidrer) (&)
(a) Tebhaga Movement (i)  Bengal (a) favmm a7iEem (i) @me
(b) Bakasht Movement (i) Bihar (b) FhITT ST (i) fem
(c) Eka Movement (iii) United (c) T AETer (i) HYF Wiw
Provinces
(d) Hali Movement (iv) Gujarat (d) BTt e (iv) o
Code : e :
@ () (o) (9 @ (b) (o) (d)
(A) @ @) @) () (A) () @) @) (iv)
(B) @ @ (v) (i) (B) G) @ (v) (i)
©) @) @) (v) () © @) () @) (i)
D) (v) @) () () (D) (v) () (i) (i)
SPACE FOR ROUGH WORK / T% %14 & ot g
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74. The following were the later Mughal 74, s 51 Tog % gy Frefafas awad
rulers after the death of Aurangzeb : HTe M9 g
(a) Bahadur Shah I (a) RIGL ¥ITE WUH
(b) Ahmad Shah (b) EHT TME
(c) Muhammad Shah (c) HEHE WIE
(d) Jahandar Shah (d) <eigR e
Select the answer showing correct T WEH F WE FH F UM IE0 T
sequence of these rulers : T
(A) (@) (d), (c). (b) (A) (@), (d). (). (b)
(B) (@), (b), (d), (¢) (B) (@), (b), (d), (c)
(©) (@) (d), (b), (¢) (C) (@) (d). (), ()
(D) None of the above (D) 3S9iE # | 1 &1
75.  Match the following (the revenue officials 75, afer Hifw (el et & T =R %
at the local level during the Mughal TSTEa FHAM TF S IwEias) |
period and their duties).
List-1 (Officials) List-2 (Duties) ell-1 (wHE)  get-2 (S )
(a) Karori (i) Village headman (a) HUS (i) "HYgE
(b) Amin (i) Pargana-level (b) #HA (i) 9O &R
Accountant wEmTe
() Qanungo (i) Collection of (c) I (iii) TSR T
(d) Mugaddam (iv) Assessment of (d) H¥geH (iv) o i
revenue
Select the correct answer : e I g9
(@ () (o) (d) @ () (o) (q)
(A) () (i) @v) (@) (A) @) (i) (v) ()
(B) (iv) (id) (i) () (B) () (i) (@) (i)
(©) (@) (v) @) () (© @) (v) @ ()
(D) (@) @) @v) () (D) (@) @) @v) ()
SPACE FOR ROUGH WORK / T% &Td & ford s
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76. Match List - A with List - B and choose 76, el - A F1 gElt - B § e #ifew sii

the correct answer from the code given 1 %2 & vl s F1 97w i
below :

List - A List - B el - A it - B
(@) Devaputra (i) Roman influence (a) aqH (@) T e
(b) Devakula (i) Chinese influence (b) TTFE (i) = g
(c) Sahi (ili) Seythian influence (c) =&t (iii)  wiifer g
(d) Rajatiraja  (iv) Parthian influence (d) TR (iv)  wifeE e
Code : FT: |

@ () (9 (d @@ () (9 (9
(A) @) @) (i) (iv) (A) @) @) (i) (v)
B) @ (@) () (iv) (B) @ @) @) (v)
©) @) @) @ @) © @) @ @ @)
(D) Gv) @ Gi) (i) D) ) @) @) (i)

77.  InToynbee work “ The Study of History” 77, ZiTet g fafan s T = arw

was written in Volumes. fedt” Tuel § forr ma #
(A) Eleven (A) =RE
(B) Twelve (B) =NE
(C) Thirteen (C) ww®
(D) Fourteen (D) e

SPACE FOR ROUGH WORK / 7% & % fort g
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78. The following types of water resources 78, Yd-TeAHEM 4RA & Ffw yff =1 = ¥
were available in early - medieval India o Fr=fafes so-sia seey 4 .
for irrigating agricultural lands :

(a) Pushkarini (tank) (a) gERiCf (aeT)
(b) Ghatiyantra (Rahat) (b) wEEA (wR)

(c) Vapi (step well) (c) =T (EidER Fai)
(d) Bandh (Dam) (@) =9 (W)

Select the correct answer - et 3 g

(A) (a), (b), (c) (A) (a), (b), (c)

(B) (). (o). (d) (B) (b, (c), (d)

© (@ ®).d (© (), (b). (d)

(D) (@), (b), (c), (d) (D) (@) (b), (), (d)

79. The demand for a separate state of  79. ‘fg-Ue fagia’ & anum W yos: o wifee
Pakistan was made on the basis of ‘two 1 J41, S 9rdg qfem & F ek
nation theory” at Lahore session of all srfeaem & forg oad & 1 7 o2
India Muslim League held in which
year ?

(A) 1907 (A) 1907
(B) 1928 (B) 1928
(©) 1937 (©) 1937
(D) 1940 (D) 1940

80. Which among the below mentioned  80. TT=ifFa fFa ToEy ¥ wag ofus 918
dynasties issued largest number of e wafem a2
Copper Coins ?

(A) Kushanas (A) HETOr
(B) Guptas (B) T«
(C) Shakas C) =
(D) Satavahanas (D) wrdaEd
SPACE FOR ROUGH WORK / 7% &% & fod s
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81.

82.

Which of the following state was not

created under the states Re organization
Act 1956 ?

(A) Andhra Pradesh
(B) Kerala
(C) Maharashtra

(D) Madhya Pradesh

Assertion (A) : There are examples of
rural resistance in early medieval Deccan
and South India.

Reasoning (R) : Grants of Agraharas and
Devdanas rights to Brahmins and temples
respectively undermined the rights of
Villagers.

Given these statements, which one of the
fo].luwi.ng is correct ?

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

81.

82.

Frfafias 4 % form v =1t v g
SAfufTm, 1956 % Ted e g2 off ?

(A) @iy 2w

(B) @

(C) werg

(D) % oW

®YT (A) : @ "R § a3 =fao
WA H AT B 1 sereR fiverar

0T (R) : SO dor wied # faery amen
TR QY1 G F1 3R 1 R mifi
F sfuwri #1 w9 w2 femn

o T o F & Wl I = = i

(A) (A) 7= (R) <FT W& €, 71 (R), (A)
el = § |

(B) (A) 991 (R) <Hi ®ét § W (R), (A)
F1 TE = 7@ 2

(C) (A) % &, 7 (R) Toa &)

(D) (A) 7T ®, W (R) 5t &1
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83. Assertion (A): A Completely new  83. HUA (A): IFRToE F e | quia: 78
genre of painting emerged during it st i = fawr Sl
Aurangzeb’s reign.

Reasoning (R) : Aurangzeb was an HAOT (R) : AT TF Hgroet g1 giem

orthodox Sunni Muslim. |

(A) Both (A) and (R) are true and (R) is (A) (A) 991 (R) SFi W& € 991 (R), (A)
the correct explanation of (A). %! Gl TN ¥

(B) Both (A) and (R) are true but (R) is (B) (A) @91 (R) 3 Ha&l § WA (R), (A)
not the correct explanation of (A). &1 WEl oA 77

(C) (A)is true and (R) is false. (C) (A) §&t §, 71 (R) Tera &

(D) (A) is false and (R) is true. (D) (A) 7d €, 941 (R) W& &)

84. Thefollowing were the officials at‘Sarkar’ ~ 84. H7el YomEA ® 'TR&R’ WX #1 THE ®
- level unit of Mughal administration : frefafas sfuedt €a o
(a) Faujdar (a) TRINER
(b) Subedar (b) HaER
(c) Amalguzar (c) HAHEAR
(d) Shigdar (d) femReRr
Select the correct answer : HEt T g
(A) (a) and (b) (A) (a) T (b)

(B) (b)and (c) (B) (b) W (q)
(©) (a) and (c) ©) @@ (9
(D) (b) and (d) (D) (b) W (d)
SPACE FOR ROUGH WORK / 1% & & fo sng
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85. Pair the Harappan settlements with the  85.

banks of rivers on which they were
located.

(a) Lothal () Indus

(b) Kalibangan (i) Sutlej

() Ropar (iii) Ravi

(d) Harappa (iv) Ghaggar
(€) Mohenjodaro  (v) Bhogao
Code :

(@ (b) (o) (d) (e)
(A () Gv) @ @) (@)
B) @) (v @ (v) (i)
© (v) (v @ @) (@)
D) (v) (v) @) @) ()

86. At which of the following Harappan sites 86.

evidence of Camel bones have not been
found ?

(A) Mohenjodaro
(B) Harappa
(C) Kalibangan

(D) Surkotada

T % I W@ F 9 W reuE fem

I 9 T E F e e

(a) T (@) fay
(b) et (i) Haad
() IR (i) fS
(d) ¥ (iv) R
(e) drETsigrEt (v) vinTme
FT:

@ (b) () (d) (e)
(4) () @(v) @) @) ()
B) @ v @ () (i)
© v @) @) @)
@) (v (@v) @) @ @G

=1 4 & fore eewr wom § oy 9 sy
i Heg T 72

(A) wEsiETS

(B) &=

(C) HEfam

(D) ¥hieer
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87.  The following Sultans of Delhi had to face 87.

the Mongol invasions on the north-west
frontier :
(@) Qutubuddin Aibak
(b) IHtutamish
(c) Balban
(d) Alauddin Khilji
Select the correct answer :
(A) (a), (b), (¢)
(B) (). (0), (d)
(©) (). (b), (@)

)

Frferfen facett germmi 1 sw-ofad dm
T HE STHHOT 3 HHAT 21 T

(a) FIITEH Th
(b) Tegafaw

(c) =e=H

(d) I=TSeEE faerst
'Hfl‘ Eikd Tjﬁl{ :

(A)  (a), (b). (0)

B ®). (). (d)

(© () (b))

(D) (@) (@) (d) (D) (a), (). ()

88.  The construction of railways in India was 88, 9Ra § ¥& 51 oy RS T’ srER
started on Guarantee System. Which of TE T A1 79 IS F wed F frafefag
the following statements are correct with LEEEk-Eeg: o f
reference to this system ?

(@) The Government gave interest on (a) @ frwior #2 arelt frsft Safert =)
the capital raised by private railway FHT S T GHR BRI sl
construction companies.

(b) The Government was to provide (b) VEH, FHEH fE ot T e &
land free of cost for stations, staff o wm g e yfy &)
quarters and railway lines.

() The construction and operation of (¢) o1& = i g Seem =it SFafaat
railways were to be carried out by BRI AT
private companies.

(d) Private railway companies were (d) Foft o Fofet 1 o o &
free to fix railway fares. WIS 9 T Fi i Fe ot |

" Code : % :

(A) (@), (b), (o) (A) (@) () (c)

(B) (b, (c). (@) (B) (). (c), (d)

© (@) ®). ) © @, b). @

(D) (@) (). (d) D) (@ (o) (@)

SPACE FOR ROUGH WORK / 1% &4 % fod wrrg
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89. Match List - I with List - IT and select the
correct answer with the codes given

below :
List - 1 List - II
(Tribal Revolts) ( It's Leaders)
(@) Santhal uprising (i) Chakra Bisoyi
(b) Bhils (ii) Birsa Munda
() Gonds (i) Sidhu and
Kanhu
(d) Munda (iv) Govind Guru
Code :

(@ (b) (o) (d)
(A) @) (1) (@v) (i)
(B) (v) (@) () ()
(©) @) (v) (@) (i)
(D) None of the above

90. Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) : Like the English, the

French also established their first factory

at Surat.

Reason (R) : The French intended to

increase the price of Indian goods.

In the context of the above two

statements which one of the following is

correct ?

(A) Both (A) and (R) are correct and (R)
explains (A).

(B) Both (A) and (R) are correct but (R)
does not explain (A).

(C)  (A) is correct but (R) is incorrect.

(D) (A) is incorrect but (R) is correct.

89. WE - I % Flt - 11 & w1y faem Fifo

a1 fSU T F2 H 4 Wl s 1 = Fifm
e - 1 et - 11
(vt fage) (% W)
(a) YU foere (i) =T o
(b) e (ii) forran He
(c) TiiE (iii) fay ik Frg
(d) = (iv) Tifee %
HE:

(@ (B (o (d)
(A) (i) (@) (v) (i)
(B) (v) (i) (@) ()
(© @) (v) @) (i)
(D) ST H & #E 78

90. 9 1 T fedl T ¥, w W wu (A) iR
TH ] HR (R) F8 T8 |

T (A) : AU F W Wi T oft
YA TEel et i | TiE

T (R) : Wi YRS O1e 1 g o
g FE =Rd 91

ST Sl Sl % e | frafafed § §
I W WA R ?

(A) (A) 3T (R) =i % ¥ it (R), (A)
e = B |

(B) (A) 3IR (R) < =&t ¥ farg (R), (A)
1 el =rEm TE §

(C) (A) ®@t &, WY (R) e 71

(D) (A) 7TeTd &, g (R) ¥& &
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91. “Humaneffortisineffective” istheSlogan ~ 91. YR® % W 3™ ¥ g aififs smen %
of which one of the religious faiths of early T H W IS St 5 e E 2
historical India ?

(A) Ajivika (A)  sTefifas
(B) Buddhism (B) Hgam
(C) Jainism © 7w
(D) Shaivism (D) e
92.  The following are said to be the legacy of ~ 92. WRd ¥ Hwell 3t W FreifafEs 58 1
Mughals in India. Tl &
() Mughlai cousine (a) TTRE e
(b) Kurta-pyjama, shalwar etc (b) @, I, VIER sefe
(c) Sufism (c) HwrarE
(d) Fatehpur Sikri (d) Trdeqe HEd
Select the correct answer : & I 9
(A) (a). (b) and (c) (A) (a), (b) W (c)
(B)  (b), (c) and (d) (B) (b). (c) & (d)
(€) (a), (b) and (d) (©) (). (b) T (d)
(D) (), (c) and (d) (D) (a) (c) W& (d)
SPACE FOR ROUGH WORK / T% &1d & f&d wvg
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93. Match List-I with List-II and select the
correct answer :
List-1 List-I1
(a) Khanqah (i) Chief disciple
(b) Pir (i1) Residence of Sufi
Saints
(c) Nurid (ii) A person initiated
into the Sufi order
(d) Khalifa (iv) The Sufi guide or
Shaikh
Code :
(@ () () (d)
(A) @) @) (i) (iv)
(B) () (@) @v) ()
(©) G) @) @) @)
(D) (@) (@v) @) ()

93.
1 997 I ;
HET-1
(a) WHwRE (i)
(b) R (ii)
€ T (1)
(d) EEH (iv)
‘%? :
(@ (b) (o)
(A) () (@) (i)
(B) (@) (i) (iv)
(C) (i) (@) (iv)
(D) (i) (iv) (i)

HEt-1 %1 Gelt-11 ¥ gafera ¥ siv wd 3w

HE-11

yqE farsg

qE Hadl F1
fremgzem

€ =i fT8 gt
e | gav fem
el

YHl MEE 31E1 i

(d)
(iv)
(1)

(i)

9210/TFU-HIS/ELG-II
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94, Assertion (A) : Shershah introduced a  94. UM (A): ¥YE A HYA WA H T
Zabt (measurement of land) system (yf| =1 Y-S ) S W’ i |
throughout his empire.

Reason (R): He abolished the HHOT (R) : 399 HHA-d2T 3 I

crop-sharing and revenue farming e Ugiadl 1 gHw & fean us g

methods, and took the entire land of 1 g g e fusr | #6)

empire under his possession.

(A) Both (A) and (R) are true and (R) is (A) (A)TE (R) S 9 € 941 (R), (A) =1
the correct explanation of (A). TE T § )

(B) Both (A) and (R) are true, but (R) is (B) (A) Td (R) 3 & ¥, 9 (R), (A)
not the correct explanation of (A). o1 HE TR TG ¢

(C) (A) is true, but (R) is false. (C) (A) T &, T (R) 394 T

(D) (A) is false, but (R) is true. (D) (A) ¥ 2, g (R) 94

95. “Cato” is considered to be : 95. ““FA" F UM ACME :

(A) Father of Roman Historiography (A) A sfae e & fiame

(B) Great Historical Person (B) WM Ufaeryes =

(C) Prominent Scholar (C) Towea v

(D) Great Greek Historian (D) WeH W 3faerasn

96. Which of the following was not the  96. Yd-AeHE(A WK # TSEAHOH WO F
characteristic of Political Structure in freferfiaa § | SEd fava =& of ?
early Medieval India ?

(A) The Kingship was hereditary. (A) TSI 9 SIS T Al

(B) Administration was carried out by (B) WO 31 HTEH AThLue! gi =ial 41|
bureaucracy.

(C) Administrative rights were granted (C) W T I wemEte sfuwr fad
to feudal elements. EIcE N

(D) The administration system was (D) eTETe e Hisga o |
centralized.

SPACE FOR ROUGH WORK / 7% &g & fod wmg
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97

98.

Provide the correct chronological
sequencing for the following industries as
they developed during colonial India.

(a) Jute Industry

(b)  Iron and Steel Industry
(c) Textile Industry

(d) Sugar Industry

Select the correct answer from the code
given below :

(A) (@), (b), (c) and (d)
(B)  (c). (a), (b) and (d)
(©) (@), (), (b) and (d)
(D) (d). (a), (b) and (c)

Arrange the following dynasties ruling
over Kannauj in ancient times in
chronological sequence on the basis of
following codes :

(A) Pushyabhuti, Aulikara, Pratihara,
Maukhari

(B) Pratihara, Maukhari, Aulikara,
Pushyabhuti

(C) Aulikara, Pratihara, Pushyabhuti,
Maukhari

(D) Maukhari, Pushyabhuti, Aulikara,
Pratihara

97.

98.

dArafrafors wrg ¥ fawfoa fr=fafag
SR Wi 1 e HIAHHITER S
L

(a) e I
(b) i Td o sem
(c) = JE
(d) = ZEm
it %2 & W s g

(A) (@), (b). (c) @& (d)
(B) () (a), (b) T (d)
(©) (@) () (b) & (d)
(D) (d), (a), (b) T (c)

Frferfes %2 & smar o wr= e § Feim

WY T3 TSTE 1 FIEHATER TS
Fuifia =ifsa .

(A) geyfa, siiefie, frer, drad
(B) wfem, dad, sivefar, qeryf
(C) iR, wfvew, Teayfy, dwad

(D) wiad, goryfa, siefies, sfer
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99. The following events took place during ~ 99. TG YA % Ffaerm # F=fafag weand
the medieval Indian history : B
(a) Battle of Talikota. (a) TSR F IS
(b) Transfer of capital of Bahamani (b) FEHA [T FH TAYE FH e o
Kingdom from Gulbarga to Bidar. AT T
(c) Battle of Bilgram (Kannauj). (c) o (F=is1) 193
(d) Introduction of dual Mansab of Jat (d) 3TFa g BY HI94 (F9 R Haw)
and Sawar by Akbar. 1 IR
Select the answer showing their correct ¥ W % I T aTeN S A
SE'C]HEI'[CE .
(A) (@) (b), (d), (¢) (A) (@) (b), (d), (c)
(B)  (b). (c). (). (d) (B) (b), (c), (@), (d)
(©) (©) (d). (b), (a) (©)  (©) (d), (b), (a)
(D) (d). (a), (). (b) (D) (d). (@), (c), (b)
100. Arrange the following rulers of Bengalin ~ 100. =el & ¥IAehi 1 HIGTHATTHN Tt TR
correct chronological order : FNE?
(a) Shuja-ud-din Khan (a) YEIEEA @
(b) Murshid Quli Khan (b) AT Fell @A
(c) Sarfaraz Khan () HIRUS @H
(d) Alivardi Khan (d) it @™
Code : e
(A) (), @), ©) (d) (A) (), @) () (d)
(B) (a), ®). @) () (B) (a), (b (d), ()
(©) (b), (a), (d), (©) (©) (b), (a), (@), ()
(D) (@), (®). (). (d) (D) (@) (®) (). (@
-000- -00o0-
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Time for marking answers : 2 Hours Maximum Marks : 200
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i wm-gfmﬂﬁima@ﬁ@uﬁ%—mmzﬁwh qoft 7 B HET ATE €
2 uw ¥ I, @ T S SW-de (SAiE-He) W aifera wifse |
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Note :

1.  There are 100 objective type questions in this booklet. All questions are compulsory and
carry two marks each.

2. Indicate your answers on the OMR Answer-Sheet provided.
3.  No negative marking will be done.
4. Use of any type of calculator or log table and mobile phone is prohibited.

5. While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does not get
torn or spoiled due to folds and wrinkles.
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